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0 RERESSION Ch. 10
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strip t 72 inches isn’t. This strip offly conlains points with unusually big
x-coordinstes. And most of the pois in this strip fall below the SD line
Conversely, the strip at 84 inches oy contains points with unosually small
r-ooondinares. Most of the points iff this strip fall above the SD Jine. This
hidden imbalance i always there m footbull-shaped clouds, and it is the
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3. For the (x, y) data

x ¥ x deviations = (x - X) v deviations = (y - ¥) product
3 78
26 46
28 69

a. Fill out the above table to complete the table find the correlation r by hand as is ¢
173.
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4. Here is a plot of data having a jointly normal (i.e. 2-dimensional normal) distrik

Note the roughly elliptical form of the plot. l/

a. For a jointly normal plot the regression gfe\is just the line passing through the mi
points at each x. You can easily draw it by hanl. Just go through the middle of the ¢
line "regression of y on x." Your line should pass through the point of aver:
approximately (100, 100) for this particular data. If you were to calculate the slops
would get this very line you can fit by eye for jointly normal (x, y) data.
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